2A:
X ZH .
=T I

&l

A ZFH - HA(B) - NRAY - BES Ol &4 JIEH BlusZ
HHAS L 1,617,452 1,575,230 42,222
£ 11,500 0 11,500
=S 15,774 15,774 0
Al 1,590,178 1,559,456 30,722
AxISe 23t 1,852,330 1,530,830 21,500
£ 11,500 0 11,500
=S 15,774 15,774 0
Al 1,525,056 1,515,056 10,000
AXHE A8 449,761 459,761 210,000
FRXXHE 243t XA 22,260 32,260 210,000
201 Ler23H| 12,000 28,000 216,000
01 AbR22lBl 12,000 28,000 216,000
O&==0IXxIEs =X 0& 0 16,000 216,000
303 Zat= 7,700 1,700 6,000
01 Z&3 7,700 1,700 6,000
Os =0dH SgEIt 24 6,000 0 6,000
-z 2,000,000 *10H= 2,000 0 2,000
-2 # 1,000,000& x2S 2,000 0 2,000
—-& 500,000& 44 = 2,000 0 2,000
eIty g4dst 1,098,579 1,067,079 31,500
£ 11,500 0 11,500
=S 15,774 15,774 0
Al 1,071,305 1,051,305 20,000
At2lEtHl SEF 2ot 234,079 214,079 20,000
=S 15,774 15,774 0
Al 218,305 198,305 20,000
307 glztold 194,332 174,332 20,000
04 QI2FHALE X 60,800 40,800 20,000
OMNHAESSE ML HIB=E J|EA(HI A
INESESSISRSE=) 40,000,000& 40,000 20,000 20,000
SMME AXOE |4 11,500 0 11,500
£ 11,500 0 11,500
201 Ler23d| 11,500 0 11,500
£ 11,500 0 11,500
01 AtR2eltl 11,500 0 11,500
O=MME ARt EEE HE S(8EH)
1,000 x2&+750H 1,500 0 1,500
£ 1,500 0 1,500
O=sMMg MAlE SSAE ZHS(LD)
H(H8H®) 100,000 %1004 10,000 0 10,000
£ 10,000 0 10,000
S 2 20,722 0 20,722
A& H FA 20,722 0 20,722
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S HOASY
B M
Crel: XA E (sl @)
SN - SRABH) - MRAY - BES 03] &k o8 p[E-F" HlRE2
MEEEA FA 20,722 0 20,722
101 @I2H| 2,560 0 2,560
04 JIZtN22UHSE+ 2,560 0 2,560
Q2011 ot MEZEA elAdl 2,560,000 2,560 0 2,560
201 223 14,322 0 14,322
01 AtR2elt| 8,742 0 8,742
02011 Gt THEZEHH LBrt+=ZH|
7,174,000& 7,174 0 7,174
Q2011 ot MEZEHA =28l 1,568,000 1,568 0 1,568
02 3224l 5,580 0 5,580
02011 ol THEZEH 22|
5,580,000& 5,580 0 5,580
202 0ddl 1,440 0 1,440
01 =U0bI 1,440 0 1,440
02011 ot HEZEH =W
1,440,000 1,440 0 1,440
203 PR=&H| 2,400 0 2,400
03 AMMFAHSFEIH| 2,400 0 2,400
02011 Gt THEZEH HRF&|
2,400,000 2,400 0 2,400
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